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—. 2020 (A) e

‘ SSC PART-II (10th CLASS)

PYSICS GROUP-I v/ U7
TIME ALLOWED: 1.45 Hours SUBJECTIVE &2 =
MAXIMUM MARKS: 48 . A
NOTE: Write same question number -c;.euu:;_{.;"rfﬁg{ Coanrts -
and its part number on answer book, as given in the question paper.
SECTION-| ()il.e> ) o

2- Attempt any five parts. 10=2x5 -é(f-—&iﬂz—"l'étc—éi -2
() Give difference between Mechanical and Electromagnetic Waves -é eI ALY 3 (1)
()  What Is meant by Restoring Force? "ﬁ‘—!'/kreu'/"vf/f = (i)
(i) Provethat v= fA 2 v=fA -u/ue (iiiy
(iv)  What is meant by Loudness of Sound? -u.**}t fe y M I Te :l/tfc_u‘sw&sil« (iv)

Name the factors on which it depends.
(v)  What is meant by "SONAR"? ?;., /gf:_ "SONAR“ KLy (V)
(vi) What is Audible Frequency Range? h}lf (vi)
(vil) Write two conditions for total internal refiection. '/»J Jf' (vit)
(viii) What is the difference between Shortsightedness and Farsightedness. u}L.fu:d av"u'd)‘—-cz’ {viii)
3- Attempt any five parts. 10=2x5 é/i_.uiﬁiil -3/J'r
(i)  What is meant by Electric field intensity? Write its unit. S fa ,vu’:_ ;».r ()
(i)  Write two factors which affect the ability of a 4"sz..u¢muuu..»ua&._/ 2ty FF (i)

capacitor to store a change.
(i) Define Kilowatt Hour. -eE o AlTank (i)
(iv)  What is meant by Electric Current? Write its unit. -u’ﬂuz(u' :l/[e./)'.//‘ol (iv)
(v) Write down colour coding of Live wire and Eafth wire. - ..c ”?— gy » /hxu (V)
(vl) State Fleming's Left Hand Rule. S Wi (vi)
(vil)  What is Armature? S AT (vi)
(viii) Define Electromagnetic Induction. “Eu Al o I'Mu 3 AS (viii)
4- Attempt any five parts. 10 =2x5 /fuylf‘.lilétz_.df -4 »‘Uvr
() What is meant by Electron Gun? Write any use of it ‘ W'Jf T T :l/y;c_._f':,v:/c! (i)
(i)  Whatis meant by DAC and ADC? vc.,:/gc_ ADC « DAC (i)
(li)  Draw a symbolic diagram for NOR gate and write its truth table. ¢ 40&1;}(‘/ P7LF-N h(")jwu" u:JJ NOR  (lii)
(iv)  Write the names of components of (CBIS) computer based 4%5.9 CAeated ()

information system.
(v)  What is meant by Flow of Information? ?:_;v/g;ﬁ([..,ﬂw (v)
(vi) Define fission reaction and write its equation, e I)VJJUJ';{/J PSS (i)
(vii) What are the Radioisotopes? s Al Tk, (vil)
(viii) Describe two common radiations hazards LA B end FSh, (Vi)

SECTION-Il £ ) i

NOTE: Attemptany two questions. 18=9 x 2 % CSNE Y eS| 1o =t
5.(A) Prove that the motion of Ball and Bow| system a4 ce PRk TS U S e (D5

execute simple harmonic motion.
5 Lt LA T i 1.26 LSS e Suuta i TSy 380 e S ESE L ifid S ()
A ray of light from air is Incident on a liquid surface at an angle of incidence 30°. Calculate the angle of
refraction if the refractive index of the liquid is 1.25.
6.(A) State and explain Joule's Law. 4 LS e IR R g S IR r ()6
5 -‘_{/()"‘J"Q?{;Xe -Vl l / 008C LU 7Ly (o3 u)'J; ?LQ}’J vV ._->f)r‘.}..f (=)
(B) A capacitor helds 0.08 Coulombs of charge when fully charged by a 9 Volt battery,
Calculate the capacitance of the capacitor.
7.(A) What is meant by Thermionic PR RT 2 (L T < R ey e Ve kS (Lh).T
Emission? Explain the defiection of electrons by electric field and magnetic field.
5 T lers St TS B0-2I Sl 26 o b 525 UK 60-20 5Ktk (L)
(B) Cobalt-60 is a radioactive element with half-life of 5.25 years. What fraction of the original sample
wiil be left after 26 years?

(B)
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PAPER CODE A

N@GMBER: 3471

2020 (A)
SSC PART-Il (10th CLASS)

s

PHYSICS GROUP-I
TIME ALLOWED: 15 Minutes 18 = oY

MAXIMUM MARKS: 12 12= AF
S o L /CLJ;?')WJWZ:Ylﬂ;/JJGJ u:}béé_:&b&d'rﬁgélﬂsii -u_‘:'éé_: D C.B:A .-_‘;':?.'fzyédlrﬁ g
434N K BN Ao S Lol S Mrirbsbradd Bamn§L S Sk \ &Sl timitiati -2
Note: you have four choices for each objective type question as A, B, C and D. The choice -q:.&._)’)j:.—.uv
which you think is correct, fill that bubblie in front of that question number, on bubble sheet. Use marker or pen
to fili the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

s/ U7
OBJECTIVE (¢ .0 x

-2

Q.No.1
(1) Waves transfer:

(A) Energy (./1 (B) Frequency (¢}

U J/J&}!’
(C) Wavelength %, (D) Velocity (s

. /t‘v'r

(1)

(2) An example of Longitudinal Waves is: e Je /".'w'fz’-’g’ (2)
(A) Sound waves ys4il- (B) Light waves Jg;J(fu (C) Radio waves J¢s s, (D) Water waves Jg,o’ég

(3) An objectis 14 cm f"al_«rd@u’/;\}’// -146;'4 5.8 cm é& //éf -;_v'«.wz: 14 cm “*_v&/ﬁ'?’;{' (3)

in front of a Convex mirror. The image is 5.8 cm behind the mirror, What is the focal length of the mirror?

(A) —4.1em (B) —8.2¢m (C) —9.9cm (D) —20cm

(4) The Si unit of power of a lens is e 2y S EdE  (4)
(A) Watt iy (B) Hertz 77 (C)Bel (D) Dioptre =T

{5) Capacitance is defined as; k - J@J c)w..y/l{ isS  aaaS (5)
(&) vc ® 9% (v o Y%

(6) Wnen we double the voltage in a ?.aagxp’;m&duf e/ nf éj”u.‘.y(/nv_{l(?,.e (6)

simple electric circuit, it doubles the: .

(A) Current =2/ (B) Power s} (C) Resistancé (75, (D) BothAandB Us» B A

(7) Colour coding for Neutral wire is; - ot 3[/‘&!:&2 (7)
(A) Black or blue 1 |\ sl (B) Red or brown iz L {, -
(C) Green or yellow 1) | = {D) White or violet u’” (9"

(8) The step up transformer: _ ~ip ualf‘.;l.,é (8)
(A) Increases the input current ‘f_rbz/;;/a;g'! (B) Increases the input voltage g_t'la'/.f T
(C) Has more turns in primary coll (- n)? »ykﬂuﬁfd /lgd/
(D) Has less turns in the secondary coil (1 Zs.% At S s68

(9) The particles emitted from a hot cathode surface are: p -u_rlef Wl 56 }i{'/yzﬂlgcy (9)
(A) Positive ions # T i (B)Negativeions #T#¥ (C)Protons 2y, (D) Electrons 14

(10) Boolean expressin for NOR gate is: - :/U‘u‘-):fd/_'/f:‘: (10)
(A) X=4A+8B (B) X =48 (C) X=4 B (D) X=4+B

(11) 1024 bytes are equal to: -ung/:’z.fgg 1024 (1)
(A) 1KB (B) 1 MB (C) 1GB (D) None of these (3= Lo

(12) Find the number of neutrons in the S ,-,;J»;,;,z.,;:.vr@.g’g:w; Bx cwl SRS (12)

nuclide defined by '2.x .

(A) 6 (B) 7 (C) 13 (D) 19
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2020 (A)
SSC PART-ll (10th CLASS)
pRysics GROUP-I

TIME ALLOWED: 1.45 Hours SUBJECTIVE ’E'Jl.-o
MAXIMUM MARKS: 48 48 = AF
NOTE: Write same question number ..;.z,».;.;_{.gwfg{ b;:ﬁ?z:‘/dlm‘{(éﬁ}w ik

and its part number on answer book, as given in the question paper.
SECTION-I Jslo

2- Attempt any five parts. 10=2x5 - fe e Lzl §F -2 21y
()  Distinguish between Longitudinal and Transverse Waves. -g,[/()){,}y/)y—l s Sor 2 S 0}
(i)  Define Reflection of Waves and Diffraction of Waves. j/.ﬂ/"f)x:..ﬂ )3»'4:.570..&.1‘ 5 (i)
(iii)  Write the basic difference between Mechanical waves ‘)/J;yutd_:.m*‘ /5' 2 ey JSaiiSe ({{D]
and Electromagnetic waves, 4
(iv)  Write in brief on any one factor upon which loudness of el Al E ﬂ,{j&‘)uvgg’ 1A (iv)
sound depends. -
(v}  What is the audible frequency range S Th g Sl 2 2 L A St S bibari sl ok dUie  (v)
for a normal human ear? Does this range changes with increase of age? - -
(vl)  What is Acoustic Protection? fe VO G~  (vi)
(vii) State the Laws of Refraction of Light. LSS FL DL S (Vi)
(viii) Define Total Internal Reflection. - /—»’}"J J)"J; (viii)
3- Attempt any five parts. 10=2x6 L fepz LS -3 0
(i Write any two types of Capacitors -u.‘?l—"'uo' 3 15 0]
(i)  Define Electric Potential ~FEXABSD )
(i)  Define e.m f (electromotive force). -u/..y/du,;;nfﬂ: (iii)
(iv) Define Electric Current and write its unit, ~J..“7.4'b’u'w J/"(, (/e ¢ (iv)
(v)  Write the difference between Direct Curre d Alternating Current, -u"JJ)ut ._r/.@/f»'_f/;f (W)
(vi) State Right Hand Rule to find the direction o netic field, = "/.,' Jr'lb’.v’w’ g /u“'e’..m&d—‘.h.e.&,.. (vi)
(vii) Write the factars affecting on Induced e.m f. . -u:"{,h!.!_u. s i Ml vk (vil)
(viil) In D.C motor how can we increase the @ﬂz;_ )m-_éf ten O:‘l,gvzd_ff,;/}dzu:f;)’{ AAL2A55)  (viil)
resultant force acting on armature? Write any two ods.
4- Attempt any five parts. 10 = 2@6 -i‘.‘:{}’-—v&'f’éliﬁgeé -4, 7)1
(i Wirite a short note on Electron Gun. O’ =) /wa" ! 0]
(i) Define Analogue Quantities and give example O ~ges sl J/’duulw_ﬁlw (ii)
(i) Define AND-Gate. Give its Truth Table. Vo) -._twi"x,/Jw w5 AND (i)
(iv)  What do you understand by Information and 'f' L - H;.,. T A LG u'cﬁ-'zu?l (iv)
Communication Technology(ICT)?
(v)  What is meant by the terms Word Processing and Data Managing? e sl b Wl B ol b (W)
(vi)  What is meant by the term Radioactivity? Sl e LIS L, (vi)
(vii) Describe two uses of Radio isotopes in Medicine, e G Sl L S A R T L (Vi)
{viil) What are two common radiation hazards? AV el L, (vill)
SECTION-l o=
NOTE: Attempt any two questions. 18=9x2 -5‘.’-"—’{/’:4!2£omn:céf <&
5.(A) Define Simple Harmonic Motion and 4 - e JOd N e 2 L UiLaigE v AT ST (.5
explain it with example of ball and bowl! system.
5 -,{z-(ﬂ*'iiirb'.j’:/ _‘l;_‘,?'lé‘:t,; -{—A’ZLJQ;"JKJQ:.!’;; G.l.’;r("‘_.«._'{{ 20 cm c.:_/gf':-{' ()

(B) An object and its image in a concave mirror are of the same height, yet inverted, when the
object is 20 cm from the mirror. What is the focal length of the mirror?
6.(A) How can you differentiate 4 Sl ?‘_/.rézisﬂrq.:fugmﬁuéﬂd"énl (emf) Lo OI_T (Lih).6
between electromotive force (emf) and polemlal difference? Explain, )
5 -y )F""Jl,u'd (/Jk/';'ux&"é/(._ 0.1m Zibez - 08N JJ}JG’—)’d,)UYJ’&ZJk:&;‘évsill (&)
(B) The force of repuision between two identical positive charges is 0.8 N, when the charges are 0.1 m apart.
Find the value of each charge

7.(A) Whatis Cathode-Ray Oscilloscope? a LA SIE S s Y e s (.7
Explain the working of different components of it.
5 ST L2 sl F 18 €A3Sitid 14-cn ¥ = Jb- 5730 S 1doen (L)

(B) Carbon-14 has a half life of 5730 years. How long will it take for the quantity of Carbon-14 in a sample
to drop to one-eighth of the initial quantity?
20-2020(A)-43000 (MULTAN)



PAPER CODE 2020 (A) _ A
NMBER 3472 SSC PART-Il (10th CLASS)

PHYSICS GROUP-I et P
TIME ALLOWED: 15 Minutes OBJECTIVE (%~».» w15 = 2
MAXIMUM MARKS: 12 12= AF

Ao L /CU’:/’DJ&"JWL.,M://:’—,C J:fb"-’é;&la‘:.)'r;:{‘él’é‘i -,,gafé_: D.JC:B:A .';&.’:!.'J:‘/y.':d'r,c OV
242 oy L_og:;,':?f,}:j:(,ﬁ:.zfufi.)::‘g‘ )’:J:?b -‘::u".ﬂ-'.rb?u),iudau‘d,; f’.é Ja¥ & i..."};;’;;,'nmy.:....l._" -
Note: you have four choices for each objective type question as A, B, C and D. The choice -;).')::J’ }57.;. Uy~
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1
(1) In vacuum all electromagnetic waves have same:

o | /.’U’r

-»;6{0'5-{'33.’ KR o :M'ﬂ’u’-’(x—"/’

(1)

(A) Speed 4x (B) Frequency %/  (C)Amplitude 3<% (D) Wavelength 5%

(2) One bel is equal to: b1 ()
(A) 10dB (B) 20 dB (C)30dB (D) 40 dB -

(3) The speed of light in water is approximately: .{.,;;U’J,,Ucdg (3)
(A) 2.3 x10%ms™! (B) 3.5x w*‘&s" (C) 2x10%ms™! (D) 3x10%ms™!

O/ g T
(4) The formuia to ind the refractive indexs: </, UL (&)
7 g o

(A) n=cv (B) "=%( %n:-‘? (D)nz:

(5) The unit of electric potential is: /) Q -q.&;b’;}”.&.f & (5)
(A) Ampere 44 (B) Joule =2 (C) Vot <&y (D) Ohm A

(6) One milli ampere is equal to: O -4l #d (6)
(A) 1072 4 (B) 107%4 (C) 107%4 (D) 10734

(7) The formula to find the magnitude of current is: >3 dr;Gb’L{*M)JJJ' (7)
W 1= ®) 7=0v © =9/ © 1="

(8) Number of coils in transformer is: -< 3,:,@&?{,:/»':; (8)
(A) 1 (B) 2 ) 3 D) 4 .

(9) The main components of CRO are: -vgu""::u.'é CRO (9)
(A) 2 8) 3 (C) 4 (D) §

(10) NOT gate is also called: A edet (10)
(A) Conductor /%7  (B)Amplifier /6% (C) Resistor 7% (D) Inverter 45!

(11) From which of the following you can get information ?Vgé,—‘:)’b;fw?lb( U evetLioe (1)

almost about everything?

(A) Books 1 (B) Teacher s (C) Computer }:_-;" (D) Internet <%/

(12) Isotopes of Hydrogen are: BRI GE (12)
(A) 2 (B} 3 (C) 4 (D) 5

20(0bj)( 7¥ )-2020(A)-43000 (MULTAN)



